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0.0 1.0 No. 4 + 10.9 0.0 0.2
9.1 1.0 1.00 9.1 No. 5 9.1 0.2 0.20
20.0 0.9 0.95 19.0 No. 6 20.0 0.2 0.20
20.0 0.8 0.85 17.0 No. 7 20.0 0.2 0.20
8.9 0.8 0.80 7.1 No. 7 + 8.9 8.9 0.2 0.20
= 58.0 52.2 & 3 58.0
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0.0 0.1 No. 4 + 10.9 0.0 0.4
9.1 0.1 0.10 0.9 No. 5 9.1 0.4 0.40
20.0 0.1 0.10 2.0 No. 6 20.0 0.4 0.40
20.0 0.1 0.10 2.0 No. 7 20.0 0.3 0.35
8.9 0.1 0.10 0.9 No. 7 + 8.9 8.9 0.3 0.30
= 58.0 5.8 & 3 58.0
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a h kg/
FC9-B2-B-300 400 95 42 - - - - - SO
FC9-B2-B-400 500 110 61
2.0
(mm) 10
t=10cm 3 3 40mm
B H W jko/ D] (D JCDITCDHLCDHICD LI M) 80mm
US9-B-B300-H 300 300 300 500 326 5 0.30 0.25 0.6 1 0.5 5 8.3 0.5 4.9 5.7 - 3.3
US9-B-B300-H 400 300 400 510 403 5 0.30 0.26 0.6 1 0.5 5 9.8 0.5 5.6 6.6 - 3.8
US9-B-B300-H 500 300 500 510 455 5 0.30 0.26 0.6 1 0.5 5 11.2 0.5 6.3 7.6 - 4.3
US9-B-B300-H 600 300 600 530 560 5 0.30 0.27 0.6 1 0.5 5 12.8 0.5 7.1 8.7 - 4.8
US9-B-B300-H 700 300 700 530 625 5 0.30 0.27 0.6 1 0.5 5 14.2 0.5 7.8 9.7 - 5.3
US9-B-B300-H 800 300 800 550 760 5 0.30 0.28 0.6 1 0.6 6 21.9 0.6 8.7 16.7 - 5.8
US9-B-B300-H 900 300 900 550 830 5 0.30 0.28 0.6 1 0.6 6 24.5 0.6 9.4 18.9 - 6.3
US9-B-B300-H1000 300 1,000 570 995 5 0.30 0.29 0.6 1 0.6 6 27.4 0.6 10.3 21.1 - 6.8
US9-B-B300-H1100 300 1,100 570 1,070 5 0.30 0.29 0.6 1 0.6 6 30.2 0.6 11.0 23.5 - 7.3
US9-B-B400-H 400 400 400 610 459 5 0.40 0.31 0.7 1 0.6 6 10.7 0.6 6.1 6.8 - 3.9
US9-B-B400-H 500 400 500 620 535 5 0.40 0.31 0.7 1 0.6 6 12.3 0.6 6.9 7.8 - 4.4
US9-B-B400-H 600 400 600 620 590 5 0.40 0.31 0.7 1 0.6 6 13.8 0.6 7.7 8.8 - 4.9
US9-B-B400-H 700 400 700 640 715 5 0.40 0.32 0.7 1 0.6 6 20.7 0.6 8.5 14.9 - 5.4
US9-B-B400-H 800 400 800 640 780 5 0.40 0.32 0.7 1 0.6 6 23.3 0.6 9.3 17.0 - 5.9
US9-B-B400-H 900 400 900 660 930 5 0.40 0.33 0.7 1 0.7 7 26.2 0.7 10.2 19.2 - 6.4
US9-B-B400-H1000 400 1,000 660 1,000 5 0.40 0.33 0.7 1 0.7 7 29.0 0.7 11.0 21.4 - 6.9
US9-B-B400-H1100 400 1,100 680 1,180 5 0.40 0.34 0.7 1 0.7 7 32.2 0.7 11.9 23.8 - 7.4
US9-B-B400-H1200 400 1,200 680 1,270 5 0.40 0.34 0.7 1 0.7 7 35.3 0.7 12.7 26.3 - 7.9
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FG9-AL-B300 400 995 29 5 FHO- 300 400 995 67 5
FG9-AL-B400 500 995 42 5 FHO- 400 500 995 94 5
FG9-AL-B500 600 995 59 5 FH9- 500 600 995 121 5
FG9-A1-B600 700 995 77 5 FHO- 600 700 995 159 5
FG9-A2-B300 400 495 14 10
FG9-A2-B400 500 495 21 10
FG9-A2-B500 600 495 30 10
T-25
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a L kg/
FG9-B-B300 400 995 34 5
FG9-B-B400 500 995 46 5
FG9-B-B500 600 995 67 5
FG9-B-B600 700 995 103 5
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No. 4 10.9 0.0 0.60 No. 4 + 109 0.0 0.50
No. 5 9.1 0.60 0.60 5.5 No. 5 9.1 0.50 0.50 4.6
No. 6 20.0 0.55 0.58 11.6 No. 6 20.0 0.50 0.50 10.0
No. 7 20.0 0.55 0.55 11.0 No. 7 20.0 0.50 0.50 10.0
No. 7 8.9 8.9 0.55 0.55 4.9 No. 7 + 89 8.9 0.50 0.50 45
HZ R 0.5 1.10 0.6
= 58.0 33.0 & 58.5 29.7
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No. 4 + 109 0.0 1.10 No. 4 + 109 0.0 1.40
No. 5 9.1 1.10 1.10 10.0 No. 5 9.1 1.40 1.40 12.7
No. 6 20.0 1.05 1.08 216 No. 6 20.0 1.35 1.38 27.6
No. 7 20.0 1.05 1.05 21.0 No. 7 20.0 1.35 1.35 27.0
No. 7 + 89 8.9 1.05 1.05 9.3 No. 7 + 89 8.9 1.35 1.35 12.0

[l=tl 0.5 1.10 0.6 HZ R 0.8 1.40 1.1

& 58.5 62.5 & 58.8 80.4
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